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1. Public holidays are declared under

(A) Criminal Procedure Code

(B) Civil Procedure Code

(C) Constitution of India

(D) Negotiable Instruments Act

2. A person ‘dying intestate’ mean.: he

(A) Died without legal heirs

(B) Died without making a will

(C) Died without any property

(D) Died without a son

3. Husband and wife have a right to each other’s company. The right is called

(A) Conjugal right

(B) Human right

(C) Civil right

(D) Fundamental right

4.No one can be convicted twice for the same offence. This doctrine is called

(A) Burden of proof

(B) Double conviction

(C) Double jeopardy

(D) Corpus delicti

5. Who has the constitutional right to the audience in all Indian Count’?



(A) President

(B) Chief Justice of India

(C) Attorney General

(D) Solicitor General

6. Principle: Willful rash driving is an offense.

Facts: Mr. Prakash was driving his car after drinking alcohol. Police books him for willful

negligent driving. Is the act of the police lawful?

(A) No, because Mr. Prakash was not driving rashly; he was drunk while driving.

(B) No, this is not a negligent act.

(C) Yes, because Mr. Prakash was driving rashly.

(D) Yes, because the police has the power to arrest a person driving rashly

7. Principle: Ignorance of Fact is excused but ignorance of law is no excuse.

Fact: X was a passenger from Zurich to Manila in a Swiss Plane. When the plane landed at

the Airport of Bombay on 28 Nov. 1962 it was found on searching that X carried 34 kg of

Gold Bars on his person and that he had not declared it in the ‘Manifest for Transit’. On 26th

Nov. 1962 the Government of India had issued a notification modifying its earlier exemption,

making it mandatory now that the gold must be declared in the “Manifest” of the aircraft.

(A) X cannot be prosecuted because he had actually no knowledge about the new notification

issued two days ago

(B) X cannot be prosecuted because ignorance of fact is excusable

(C) X can be prosecuted because ignorance of law is not excusable

(D) X’s liability would depend on the discretion of the court

8. The basic structure theory was laid down in the case of



(A)Maneka Gandhi V.UOI

(B)Keshavanananda Bharathi v.State of Kerala

(C)M.H Quareshi v. State of Bihar

(D)I.R Coelho v. St of Tamil Nadu

9. The age of retirement of a Judge of a High Court in India is

(A) 58 years

(B) 60 years

(C) 62 years

(D)65 years

10.Which of the following best describes the legal phrase amicus curiae?

(A) let the buyer beware

(B) friend of the court

(C) at one&#39;s own risk

(D) on what authority

11. Which birth anniversary of Dr. Bhim Rao Ambedkar, the author of the Constitution,

was celebrated recently?

(A) 136th birth anniversary

(B) 138th birth anniversary

(C) 135th birth anniversary

(D) 130th birth anniversary

12.Which day is celebrated as world heritage every year?

(A) 18 April

(B) 19 April



(C) 20 April

(D) 23 April

13. Who appoints High Court judges?

(A) Supreme Court

(B) Prime Minister

(C) President

(D) Chief Minister

14.CUP : LIP :: BIRD : ?

(A). GRASS

(B). FOREST

(C). BEAK

(D). BUSH

15. Safe : Secure :: Protect :

(A). Lock

(B.) Guard

(C). Sure

(D). Conserve

16.Children enjoy _____ cartoons on TV.

(A) to look at

(B) watching

(C) to see

(D) to watch

 

17.It took the child a long time to recover ____ the shock 

(A) over



(B) about

(C) under

(D) from

18.For all his ____he is a ____

(A) tricks cheat

(B) stupidity, fool

(C) wealth, miser

(D) health, player

19.The greater the demand, _____ the price. 

(A) the higher

(B) the higher

(C) higher

(D) high

20.If she _____a bird, she would fly 

(A) were

(B) was a

(C) is

(D) are

21.When the Principal entered the class, a student………. on the blackboard.

(A) Wrote 

(B) was writing 

(C) writes 

(D) is writing
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